Feedback — Optional programming assignment 2 Help

You submitted this homework on Thu 11 Dec 2014 12:00 PM EET. You got a
score of 0.00 out of 10.00. You can attempt again, if you'd like.

For this optional assignment you'll need a GML file that is a non-random subset of English-
language wikipedia pages from 2007 and their hyperlinks. 6MB file here. It is also recommended
that you work in R with igraph, as | have provided a mostly filled-in template you can work with.

Question 1

What is the power-law exponent of the degree distribution of the fragment of English-language

wikipedia pages from 20077 Your answer must be accurate to within 0.2

You entered:

Your Answer Score Explanation
x 0.00
Total 0.00/2.00

Question Explanation

See http://tuvalu.santafe.edu/~aaronc/powerlaws/ for an explanation of how to fit power-laws and
to download R code.

Question 2
Looking at the degree distribution of the above Wikipedia page network, what can you say?

Your Answer Score Explanation

the distribution has xmin > 1
the distribution has xmin = 1

the distribution has a pronounced exponential cutoff


https://class.coursera.org/sna-004/help/quizzes?url=https%3A%2F%2Fclass.coursera.org%2Fsna-004%2Fquiz%2Ffeedback%3Fsubmission_id%3D174406
http://www.dessci.com/en/products/mathplayer/
https://class.coursera.org/sna-004/quiz/start?quiz_id=24
https://spark-public.s3.amazonaws.com/sna/other/R/OPA2Template.R
http://spark-public.s3.amazonaws.com/sna/other/wikipedia.gml

the distribution has no exponential cutoff

Total 0.00/2.00

Question Explanation

Look at the xmin returned by the plfit function. Also check the plot for deviation from the pure
power-law distribution.

Question 3

Calculate the indegrees and outdegrees of the nodes in the Wikipedia graph. Which of the

following is true.
Your Answer Score Explanation

the node with the highest outdegree is a Wikipedia hub page
pointing to many articles on the same topic

the node with the highest outdegree pertains to computer
science

the node with the highest indegree pertains to a broad range of
materials

the node with the highest outdegree pertains to sociology

Total 0.00/
2.00

Question Explanation

The empirical results should be intuitive: broad concepts should have high indegree, hub pages
should have high outdegree, but you need to compute them in order to see which hub/concept
pages these are.

Question 4

Find the highest (undirected) betweenness node in the Wikipedia graph. This node likely has high

betweenness because
Your Answer Score Explanation

It has high outdegree



Itis in the periphery of the graph
It has high indegree

It links different mathematical concepts

Total 0.00/2.00

Question 5

Use igraph's page.rank() function with the default damping factor (damping = 0.85). The node with
the highest PageRank in the graph is:

Your Answer Score Explanation

Set
Government
Education
Metabolism

Total 0.00/2.00




